AP Calculus AB





Name __________________________________

Review of Limits and Continuity
Find each limit without a calculator
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11.  Use the Intermediate Value Theorem to show that 
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has at least one root on the interval [1,2].  Find the root(s).  (You may use a calculator)

12.  Does the IVT guarantee a root for the function 
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 on [-2,1]? 
13.  Classify the following functions as continuous or not continuous.  If it is not continuous, state the discontinuity type and whether or not it is removable.
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14.  Find the values for a and b that make f(x) continuous and then justify continuity.
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15.  Define f (4) so that 
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 is continuous at x = 4.

16.  Find the vertical and horizontal asymptotes of the graph of 
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17.  Where does the graph of 
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 have a tangent line parallel to the graph of the line by the equation 
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18.  Use the definition of derivative to find 
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19.  Find an equation of the line tangent to the curve 
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 at the point (2,4)
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